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End of Module 2 Reteach

1. Erica decided to share her king size candy bar with three of her friends. If the candy bar

is 12 inches long, how much will each friend get? Show your work below.
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The water level in a reservoir rises an average of %

inches every 4 years. Based on this rate, how much
will the water level change after 1 year?
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fraction

In order to determine this, you would take the amount it changes in 1 year and multiply it by 9.
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In order to divide fractions, you must

Keep Chance Fuip

Keep the first fraction, change division to multiplication and flip the second

fraction.
Divide.
kg L = - ' i Y /S 7[_! ,I", - M)
1. + 1= * & - 1’“,-",! ) 2. +3= [, % !},'«: B Y B LA
5 3 5 L U/ - 6 z L ! = -
8 o+M0= 12 _ - 4 pel= J*3 =/
2757 ¥ 'Y =My 2737 = 3 -
Hl =2
c’} /)U ] /5
1. 8 .7 _ 8 1/ 3/ _ b/
12785 477 /84 &P 2
!
24,1, AL “‘)/5 = 2 Ve
5 4 : [ e ’ D
3.3 .4 3 ’ 15
2TET_ Y T
| 3 3
4. 1.2 *’53 i n
23 _ d 2 1
1 B i S 22 .5 & L
'8"—6— g% g g~ = ’:; r 7 (A8 /Y
) | | /
8l e T B K Sy B e B
3¥3=_ "3 37 °/9 s*8=_G "3 "M@
i i - 5 l 5
5 1 - X - Vi 6. 5 _ e %= = i
z¥3= £ /v”" 2 ¥ 8= T B | lo




Name: Date:

2. Marley spent $75 to purchase tools for making birdhouses. For every birdhouse he makes, he
must spend $8.50 in materials, however he makes $15. Let x represent the number of
birdhouses he sells.

Write an expressmn representmg his profit. ———

P e e e ™~
Profit = amount earned — amount spent ) Fe
\ NG e
Here is one e%@lﬁnTm;nts his profit:  15x—8.50x— 75

Can you write two equivalent expressions for the one above?

- B8.50x%_+ [5%- 75 d?éa,r(mqeo ocdac)
(0.50x - 75 (Compined Like Tecms )

Why are we multiplying 15 and 8.50 by x?
ecanse thuse deeas will (Jmnjv based oa the number of
biedhnuses he Sels. Thy mpce bicdhouses he sells, the moce Supplies
he Wil have o pucchase and the more Money e Wil make.

Why are the last two terms negative (8.50x and 75)?

Recause Ty repeesent Costs (expenses)

If Marley wants to earn a profit of $400, how many birdhouses must he make?
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Profit = amount earned — amount spent
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3. Karl’s current balance in his bank account is $150. If he then uses his debit card to purchase a
new phone that costs $160 and then is charged a $10 overdraft fee for insufficient funds (not
enough money in his account), what is the minimum amount of money he must deposit into his
account to then bring it to S0?

I
» Debits/Fees/Purchases/Payments (made by you) are negative amounts

* Credits/Deposits represent positive amounts
—

First, determine what his balance will be after the purchase is made and the fee is charged. (Remember,
purchases and fees are negative amounts)

$150-$__[(s0) s 10 = -RJ0
OR

I o~ ~ T 1 ™
$150+(-$__ |1, D J+8 - 10 i 2 U

The opposite of this amount is what he would have to deposit.

~

The opposite of -§__ o4 U isS__ 0

Therefore, he would have to deposit $ 20 into his account.
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4. Maci wants to build a new fence in her backyard for her puppy. Her rectangular yard is twice as
long as it is wide. The total perimeter of her yard is 200 feet. What are the dimensions (length
and width) of her yard?

* Perimeter = 200 ft Width = W

Length=L= (Q !{gf

First you must know what perimeter means. It is the distance around the outside of an object. To find
it, you must add up all the sides. The formula for perimeter of a rectangle is as follows:

Perimeter=L+W+L+W

Now, let’s use this to solve our problem.

Follow the steps faor

200=L+W + L + W : ; solving equations in order
to find W. Then plugin
200 = ( ;_\/\] ) +W+(9~W)+W the value of W for the
' expression you wrote for L.
/ DON’T FORGET UNITS!
200= (LW
(o N N

W=__3372 feet oc 33'Y3 feet

L=2W = 2( 33?; )= Gl.b feet or GG /3 feet




